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FIRST YEAR HIGHER SECONDARY EXAMINATION, SEPTEMBER 2021

Part — 111 Time : 2% Hours
ECONOMICS Cool-off time : 20 Minutes

Maximum : 80 Scores

~

General Instructions to Candidates :
® There is a ‘Cool-off time’ of 20 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® (Calculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® (Give equations wherever necessary.

® FElectronic devices except non-programmable calculators are not allowed in the
Examination Hall.

fl3§030 01803962383 ) 120} MBCFU0501353 :
®  dMddley MA@GBTIN 0o 20 AlMQ” ‘@03 BIan ©6Se” DeMEOVIBIBe0.

® ‘9B @oah OOSO’ GaldBIERUD alGlalWea|SIM)e DTMHOBU @RYAVY®EMo
621Q0Mo DalCWIUIHe)>.

®  DTMOIBUD af)PYDIMTIM MM CalOBIEBURB UPHBLIANBYJo AWIBHEMo.
®  1I3c3uoEBU3 MPIAIM]o URBLIA 1B e AIWBHEMo.

®  BHEMAS B)SENDUD, 2ll(@BUB, (N2aD)BUWB, af)avial DOMOECala|Glo8 @ean
MBI BlaoeMo.

®  G210B§EBUD BRIVOgOIeN Meilwigme.
®  @RNIVDIMBS TLNLIDIH TVAAIIDIEIBUD BHIS)ANEMo.

® CEIWIMBURB  OaIPIMIBHOTD  HOTINCLIQO)DHURB  BY1OHWBB  B0)

EDEIDHE(SIMD Dald0sMAl)o alBldd10a00S] 63 DalCWOWIHNQINM oISl
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1.  Answer any 10 questions from ‘a’ to ‘I’ carries 1 score each. (10x1=10)

(2)

(b)

(c)

(d)

(e)

(®

(2

FY-235

Which of the following bank is known as ‘World Bank’ ?

(1) International Monetary Fund

(i1)) Asian Development Bank

(i11)) International Bank for Reconstruction and Development

(iv) Reserve Bank of India

Data collected from a newspaper is an example of
(i) Primary data (i1)) Secondary data
(i11)) Un-published data (iv) Raw data

“Jail cost of living” as a measure of poverty line was used by
(i) Dadabhai Naoroji (i1)) VKRV Rao
(i11)) Findley Shiras (iv) Amartya Sen

Choose an example for commercial energy source
(1) Fuel wood (i)  Agricultural waste

(ii1)) Dried dung (iv) Electricity

Tally marks of a distribution represents
(1) Class limit (i1)) Class interval

(i) Class mid value (iv) Class frequency

The range of a series represents

(1) Highest number in the series
(i1)) Lowest number in the series
(ii1)) Middle number in the series

(iv) Difference between highest number and lowest number in the series

Which of the following is an environmental issue ?
(1) Unemployment (i) Inflation

(ii1)) Land degradation (iv) Economic depression



L. ‘2’ a)@@ T ao0was ea103imalol agomsslene 10 afanomlmn 20mee
af) )@ $326E0ANIMYe 1 AVEH03 all@o. (10 x1=10)
(@) 210165 ®ANIFHBS NIVEH)BHSIG3 GRIOD NIVE; af)ANAIWEAISIAN®) aB@6M ?
() eMBMoaUeM@3 cAdeMIQOl ansme’
(i)  aBeHiM HAAICIA[OAAT NIOH
(iii) ENABA MIHEM@3 NIOB> GaNIAB GldENBAV(SBH U BRHAF OHALAILIA [HAG

(iv) dlavdaimioss 839a0 enam)

(b) AlMal@emsl@d MM cUDEBIENAM BATNBBUB 21)A16S GXANIS)BBAIDIM@ aG@IM
DBIaOOMAEG ?

(1) (oA BEEIRUY (1) asilole someandd

(ill) (RSl &0lE90@D BOTNERUD (iv)  @RIVCAVE|® BOATHEIBUD

() BoAIBICOS! GHMENISMNMDIM) “RVI@ Hlalm aleldi” DalcoUilaody

@1R)OEM ?
(1) BoBRIMINW MAIGNIe (i) all.ed.erd.all 0oal
(iii)) adlmdeel axlooay (iv) @Rad®myeauad

(d) aemley 9@ CALIGPIMBH HBIAOBHMo HDOHETINS)IOID) af) )@ .
(1) afllog (i)  ®0BaHld ald¥ AUTM®HNUB

(1) DEMAS al106Mdho (1v) esaBn@i

() &) almoen cuyamlews ‘soell  208600°  (IGIMIWGCleOMG

af) OWNOMOE ?
() oy al1ald (i)  HoquensecaIs
(ii) Gogy awmelyo (iv) GO @aRaED

() 80) curaMIWeSs OV (IGINIWIM. H2IYIND af)TTIOHMQIE.
(1) ewyamldieel aggal) alelle mamid
(i)  ewyaMldieel aggall Haldle mmIAd
(i) ewysMideonl awy mmid
(iv) ewyamldiees a@galle alel® MMIOk a@Qalle §aldl MMIN ®enle)nss
QY@M Vo.

(g2) anaes ®aMIgIssaIRi3 aldaludlGIE: (@I100Mo aG@®oem ?
(i) emovlelcpwa (i)  aleMeaIo)alo
(i) 2gHled @RalalWo (iv)  aLoMUED]S BOM3 Yo
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(h)  Which of the following diagram helps to locate ‘median’ ?
(1) Histogram (i1)) Ogives

(ii1)) Frequency Polygon (iv) Frequency curve

(i)  Persons who own and operate an enterprise to earn their livelihood are known as
(1) Self employed (i1)) Casual wage labourers

(ii1) Regular salaried employees (iv) Government servants

()  Which index number indicate the changes in general price level ?
(1) Index for Industrial Production (i1)) Consumer Price Index

(ii1)) Wholesale Price Index (iv) Sensex

(k)  Which of the following is ‘“NOT’ a Health indicator of a country ?
(1) Infant mortality rate
(i) Incidence of communicable and non communicable diseases
(ii1) Life expectancy

(iv) Employment level

(I)  Population is statistics means

(1) Totality of items under study (i) A sample unit under study
(i11) First 10 units under study (iv) Last 100 units under study
Answer any 6 questions from 2 to 13 carries 2 scores each. (6x2=12)

2. List any two objectives of World Trade Organisation.

3. What is meant by environment ?

4.  Classify the following items into spatial classification and chronological classification.
(i) Population of India
(i) Rate of unemployment in 2018
(ii1) Crude oil price in 2020
(iv) GDP of China
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(h) ©@oey ®MIGI8zAIXIG @ WRWATOE MVaOIWEMOLIEM  ‘dlaslwad’
M13gNa60M H¥MN©) ?
(i)  adlavegowo (i) eeflanedd
(1i1) (aOlHIaB3aV] Galosglne (1v)  (aOl&mBavl Ql@o

(i)  2aflomoEsimow] 60} MeEBINNG HSHWONIGIBN)B]o BRG MSBITNEG:6TE
CaldB)BH@)o )2 1QIaM QILBTIBHUB
(1) VYo HAIYIB3 HEENBBIHAMNAIAD
(i)  D)ell 6®o¥lel0s]aud
(ii1)  audle AIE)MIMMSS OIS 303
(iv) waldened ceoelleedd

() eat0®) alleimleinne®silemeod)an 209  aV)allaflea)an  av)a a0

aR@®oem  ?
(i) QPO OeialMM MValle: (1)  9aleRIG®Y allel MV)a fld:
(iii) o2 aflel av)ale (iv) eavamdeauaay

(k) anaes @aMigEs0I0lcd  80) EIROWINE  @RYEOIWY  AV)aldeBS]3
DUB3E)AISOTND BN ?
(i) wluo) MEEMMEBS
(i)  alHOMD)e BRLJOTH@)AIW CRINEBBIOS AVLOAVIW o
(1)) @ERW)A AeBACLIY0
(1v) emodl@dmlel

()  avoalidomI@d ‘quacui®oe’ (population) af)M® OB0ME GRAMONILNINEY
af) 06’
(1) aloMOTIMSBS af)L]0 HMEBSB)o
(1)  aloMOTIMSBS 630) TVLOMIlUD
(iil) alomEIME: @Ry 10 @eMIge-ud
(iv)  alomETIMEs @oalTvom 100 @emlg)Hud

2 m)®@3 13 2190088 21033363 aBO@BILN0 6 af)INOTIM DODOOA) ).

2 MUeH30A3 allmo. (6 x2=12)
2. eeIod QIPaldd avoreism (WTO) @ies aBo@eslEllo Q6ME LId:MieRUd eﬂg)}))"
D2 1Qd>.

3. aidlaudi®l af)Im@ GRAGONINAND af)aHEI ?

4. oo @migEs mmases uoelle aldyle:emoe GHORIMIVI®  AIBYldsMo
a)MIEBBOHM DG BlLe)D.
(1) enaileel 2mMavoaly
(i) 2018 eel omolellejoon mloas
(i) 2020 ee1 GRIVCTVEI® afemallel
(1v) eea1m)es &l.all.all.
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10.

11.

12.

13.

Identify two discrete variables from the following :
(1) Height of a student

(1)) Number of students in a classroom

(i11)) Number of fishes in a tank

(iv) Distance between two places.

Draw scatter diagrams showing perfect positive correlation and negative correlation.

Write any two properties of correlation co-efficient.

Construct index number by Simple Aggregate Method as the base year of 2005 from
the data given below.

Item Prices in 2005 | Prices in 2015
Wheat (kg) 20 30
Rice (kg) 30 40
Pulses (kg) 20 25
Clothing (mt) 60 80
Milk (ltr) 25 35

Write any two similarities in the development strategies of India, Pakistan and China.
List any two factors that causes land degradation.

Categorize the following items into quantitative data and qualitative data.

(1) Intelligence of a student.

(1)) Marks of students in economics.

(i11)) Income of labourers.

(iv) Health of labourers.

List any two characteristics of ‘the poor’.

List any two means for reducing environmental degradation.
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5. ®6¥ ®amIg)es0I0lcd 0 GRIVIN® 210603 @l ]Tl60I) agf) 9I®)d:.
(1)  &0)ailspRdmilwes 6alddsoe
(i)  830) Goqy 0)floes &SIHSOS af)emo
(iil) &0)SowslerI AETVLIENRRIOS af)smo

(iv) @me munelsnud @olenss GrdElo

6. al@lan@an  calomglal  LaOMITWOTTIV)e  AMNGIAI  AVAOMIMLOTTDW)o
HOFHNAN TVHIQB WR(UNEBUB AIOW IS

7. QLAOMIML NPEMOIBATINOM aBO@BIEN0 BENE MVAINENHDBUB af)$I®)d.
8.  ®oey ®mMIg8s 3amemngl@d mlanie 2005 @rsIrunomaIBatno®] aldlwemla caalel

e il® aflleiqv)aile @emenosead Aol (Simple Aggregate Method) ®alc@ouilaf
EDABA GBIV MAUAQ BHEMAHIHN) .

Mo ailer 2005 ailer 2015
cnO®MI 20 30
@Ol 30 40
WIM6O13UB 20 25
QI(@o 60 80
ald@3 25 35

9. @Y, @e2IM, aldHVNOM ®SEBI  EIREBBOS Alle:avm  @OMEBSlel
aBO@EILI)o QENE TVIDYDDHUB af) QI®)B>.

10. 2a1l003 @RalalQATIM  BHOOEMAOINM RO@EILN OME  HOEMEBUD  Llgy’
O21Q.

11. @oe® ®IMIgss MHMSBOS alGINMOIGAD BATHEBUZ, UWPMOIGAH  BATHEBUY
af)aMEBOHM 00 WIGIH6) .

(1) &0 allspdodlees mieul
(i)  cvoMIEIE VMA@ AllBPAMOBE)OS A0BHE
(iil)) O®IYILINElBH8)eS AIO)AIMo

(1v) 0®o¥1rI08]H8)0S BRYGCOIN o
12, 30lB00S apo@HLl)0 0eNe MVANCUaH®RUB LY a1

13, aidlaudl@ll @Ralal®@o B)}02)}OBH0NE QAIQ)MGIMEBH aBOD®EILI 6NE AIBPNEBUD
elay ea1g)d.
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14.

15.

16.

17.

18.

19.

20.

21.

Answer any 5 questions from 14 to 23 carries 3 scores each. B x3=15)

Explain the background that led to the implementation of New Economic Policy in
India in 1991.

“Organic farming gets more importance in the present day world”. Give any three
reasons.

One of the functions of environment is that it provides aesthetic services. What are its
other functions ?

Convert the following frequency distribution into exclusive class intervals.

Class f
0-7 15
8—14 15
15-21 14
21-28 11
29-35 5

Explain Pilot survey and list any two merits of pilot survey.
Write similar economic term for the following concepts

(i) One who buy goods and services to satisfy their wants.
(1)) One who produce goods and services.

(i11)) One who works for some other persons and paid for it.

Explain commercial and non-commercial energy sources with suitable examples.

Complete the following table.

Steps towards making a Project




14.

15.

16.

17.

18.

19.

20.

21.
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14 2)®@3 23 219OW)BS ¢a1083SEG3 aBo®BHIE10 5 af) ANOTIM 2ODMOOAH) ).

3 aved»93 alloo. (53x3=15)

1991-@8 Dy aNO®AB  AVOMICTG: Mo MSaflensaMalcelss MWila)
alu@IOMElo AfUElBE1 B8

“QIAGAIM BHIEI CRIGHANHIA OORAI BiaH] BHIS)M@3 (@IOWIMe EMSIAN.” MmaN’
@DQEMEIBUD af)P)®).

UVBOPDAD  ERMEIBIMDBHOM  BHYIVWIM®  alclrudlBlees  wWA2nEBSI3
8a2eM. aldlnOlGIeSs ag) WAMEBUS nRO®LI0 ?

@9 @IgEs  ERAGIIAI®EIMOTD  BFaNIG GOV MSCAISTICINs
(>0 DBl B>.

Class f
0-7 15
8- 14 15
15-21 14
21 —-28 11
29 - 35 5

al@lauem avdeq] Aluodlaelee)d. aRO@BILN M CAMBHUd LNAY eaIQd.

©06% @IS @IRHYUOWEBBUBAE) TLAIMAIW ALIMUDHB> alBo Agf)PI).

(i) ©RAUEIBUE MYAITINAISIEMMMGIMIV] TVLOWMEBUB AIIEBBIAMNWIUD
(1)  ALOWMEBEBO CALAIMEIBESRO WA BE)INWIUB

(iii) (aITlanElo BODa|dl 26Q000UBH9 calme]l 220203 aBB6IS)IMWOUD

aemiRy-anamiRime 9VdRR HO0ANSEBUd GPMCWIR NI DBIAOOEM TVaCIG0
flvoB2Be)B.

@06¥ @ANIFHBS a15]d )AL

30} G I0RBHY Q09N aflaflw ~eigemyd

NS,k R DD




22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

Draw a simple bar diagram using the following data :
Year 2014 | 2015 | 2016 | 2017 | 2018
Production of iron | 90 | 140 | 160 | 200 | 250

List any 3 most crucial economic challenges faced by India during the colonial period.

Answer any 3 questions from 24 to 31 carries 4 scores each. Bx4=12)
Write a short note on the causes of poverty in India.

Analyse the impact of economic reform process initiated in 1991 in the realm of
agriculture sector and industrial sector.

Calculate Quartile Deviation and Co-efficient of Quartile Deviation for the following
data.

Wages Number of Workers

20 5

25 7

30 6

35 10

40 5

45

50 4

Briefly explain the importance of statistics in economics.

Match the items in Column ‘A’ suitably with items in Column ‘B’.

Column ‘A’ Column ‘B’
(1) Histogram Time series graphs
(i) Ogives A circle divided into component parts
(i) Pie diagram Mode can be located
(iv) Arithmetic Line graphs Cumulative frequency curves

Explain the qualities of a good questionnaire.

“Two major policy reforms were complimented in independent India for promoting
equity in the agricultural sector during 1950’s. Explain them.

Explain the role of health infrastructure in Kerala to tackle Covid-19 Pandemic.

FY-235 10



22. @069 ®IMIgIBS BOMEBUE Dalc@IUTla] Miloallud NIOA AW®(o AIOWEN)D.
QIBaHo 2014 | 2015 | 2016 | 2017 | 2018
o)Miload 2eialodmo | 90 | 140 | 160 | 200 | 250

23, 920e80eMIQ@3 $H0e1eISOTIG3 Dam @REINRIGEla] aggale MBaN@@A0® AN’
TLOMIAH S HAILRONSlB0D £lavg ea1Q)w.

24 m)®@3 31 WOHOWBB aBO@BIEIo 3 G210BIEBUGE DOAMOOAY)®)d>. 4 AMVEHHIA
ailo. 3x4=12)
24. e yilort 3oalBIONNG HO0MEBOS h)Ola] B0) 0210} B)0la] GYIOIHN)D:.

25. 1991 @REoEla] MLOMUABID alGlaHAHOM (Al &0daHlad  GasILINIEN.
QIAITVOWH: GaalrINIRI DMBIGFIW BRMINOaNLIGEBUB QlUdMEIMo §alQ)d:.

26. 21)010S OHIS)OMIFBE  BOMEBSIGMIM 2 IBAMOL  QAYBGIWIMo, 2 IGAOD:
Q@I OMOBIOAF U1)EMIEBo af)AVIAI HEMENON).

CAU®Mo | O®OYILISHB)9S af)emo
20 5
25 7
30 6
35 10
40 5
45 4
50 4

27, vomMIGTI®> VOMV@@TIGE TVIAIYBHOTHO (2 10WIMYo 2 1)0)B AlaICl99).

28. ‘A’ cHO8OWIOR!I HMEBHS @RMCWIRNIWV] ‘B’ ¢HISOMIOLI sHMEIBS)A00]

c@oedla floed.
A B
(i)  oolavegowo HOLICUYMN (NN B
(i) e=flaneud 80) A1Emeo ailailw  oweansIw
afleslasnam)
(111) ©8al W0 cemow“mmasm@%es)oqa Sl
(iv) @RACm2gle: ORI (D VeI Qo

29. 80 me] ealosalellas aneodldicasme emMeamud allvodlv:dlee)d .

30. “1950@&@3 VIO DO @3 @0QaHld> casueIfler] (QEQ)
G(@10@TV0a0la leM@IMIV] OME" (IWIM alBlaHBNIEBUD MSaflelnesl.” @Al
aflvodle@len)d.

31. e®oallaw-19 20002000 EMAISIMDI@ CHESTHIOL! BRYECAIWY AlURIOATHE
TUDHOLEIBROS ald: ANlUoEld0l00)b:.
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Answer any 3 questions from 32 to 37 carries S scores each. B x5=15)

32. Explain the liberalization policy measures taken by the government in 1991 in the areas
of industrial sector and financial sector.

33. Analyse the challenges faced by the power sector in India.

34. (a) Explain sampling errors.

(b) List 3 different types of non-sampling errors.

35. Draw a pie diagram the from the following data.

Item Expenditure
Food 400
Clothing 60
Shelter 300
Education 600
Health 250
Miscellaneous 200

36. Explain the factors that contribute to human capital.

37. A survey was conducted to Study the average consumption of milk by people in an
area. 50 families were surveyed. Per month consumption of milk by them is given
below.

28 4 24 22 14 40 25
12 23 20 32 16 12 11
14 43 10 42 18 22 37

10 29 30 6 8 32 17
10 39 40 4 23 42 37
9 31 12 40 37 6
5 34 41 30 10 4

11 10 30

Construct a frequency distribution with exclusive classes taking class interval as 10.

FY-235 12



32 0@ 37 HOWBB aBO@EIENe 3 GalOBIEBUBEH DOAMAOAY)®)d. 5 AVEHIA
aflo. @ x35=15)

32. aipaivodie:  caalei@lel wmaooicaaleiolene  1991-@8  walndeaad
MSalenasl@ 93200IEENOEM MSalSla:ud allvEle:dlee)d.

33. poydilenr 9vdez  caalel  @rEl@lclaasmEdlemam  aalg)oilgleud
AflVodHEIMo 6)21Q)).

34. (a) avomflow aflleansud afluodle:dlee)s

(b)  man aLoMlee M@ allvad:ud ellay e 1Q)d.

35. ®o6¥ ®aMIg)es BemeBEI3 MM H8al WD (o AUOQEN .

eDMo ®alelai
@100 400
QM@0 60
alo@aflso 300
allzyoeiave 600
@1RYBGOIN Yo 250
ule)lszlel 200

36.  aMaHy MEILMBTIM TVoEIAIM 2 IQAN ALISHEBOS h)0la] ANAIGlE)H:.

37. 80} (ICBUOHOD BRHB)IHBRINS V0UE! aldLled DalERINO »OMEAMMTIMOV] B0)
qudeq] msomil. 50 B)S)emIansam alom  AllcWORAISHV@. GRAIOKS 60)
DOAVLODIV) moeﬂm@ DalGROIWO MIOY MATIGINE

28 4 24 22 14 40 25
12 23 20 32 16 12 11
14 43 10 42 18 22 37

10 29 30 6 8 32 17
10 39 40 4 23 42 37
31 12 40 37 6
34 41 30 10 4

11 10 30

DA DalcIUTla] GOqU ensealg 10 @l a¥laogsad dalwiad (Exclusive Method)
@RYAUYED Al @EEMo GQYINIBEN)B>.
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Answer any 2 questions from 38 to 41 carries 8 scores each.

2 x8=16)

38. Analyse different poverty alleviation programmes implemented by the Government of
India. (Hint : 3 Dimensional Approach)

39. (a) What is meant by Sustainable Development ?

(b) What are the major strategies for sustainable development ?

40. Consider the data given below :

(a) Draw less than ogive and more than ogive.

(b) Locate Median Graphically.

Age Group Number of Persons
0-10 60
10-20 80
20-30 12
30—-40 28
40 - 50 20

41. Calculate Arithmetic Mean and Median from the following data :

Wages Number of Workers
10-20 15

20-30 10

30-40 5

40 -50

50-60

60— 70 10

FY-235
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38.

39.

40.

41.

38 )@@ 41 AO0 ¢al1B3iEBEIAE aBO®EBIENe 2 afINOTIM DTNOOALI®)cb.
8 ave3038 alloo. 2 x8=16)

gamy  walemeaad  Msaflenssle  allalw  BodlEBYTIdRdPRM  alELGIBGUD
Vo eIMo 6)21Qd.

(aV)a1m : (@l AVAlaIMEsBUB)

(@)  avdle Ald:IVMo af)M@OGINE ERABLOAIBNANODANIE ?

(b)  avudle AlGHIVMEIIMBS (@ IWOM E(ANEBUB ABO®EJ0 ?

21)Q16S @ANIF88 BOTMEIBUB al@lwemis :
(a) eaiav oM adlal, caod 30 slal af)arlal AUEWEN)G:.

(b) 2w (Noablad MIBNWIB6 ).

(100 QSO DHB)OS af)gNo
0-10 60
10-20 80
20-30 12
30-40 28
40 — 50 20

@06¥ @®ANIFBB BOMEMSIE3 WIANo AW Yo, AW LREH0 af)AVIQL HEMENIBENE>.

CAI®Mo ©®0Y1e1E DSOS af)ano
10-20 15

20 -30 10

30-40 5

40 - 50

50 -60 8

60 — 70 10
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